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Angular conditioning- Angular benchmark
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Angular conditioning- Angular benchmark
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Angular conditioning- Angular benchmark

* Find principal axis of showers- benchmark for model
* Diagonalize analogue inertia tensor

* Principal axis is eigenvector with the smallest
eigenvalue

* In order to reconstruct the true angle:

* Layersin ILD ECAL are not regularly spaced in z

* Take this into account in positions of hits used in the
inertia tensor
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Angular conditioning- Angular benchmark
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Next Steps

* Train for longer?
* Train with more data?

* Check conditioning is working- train on the data that
was used for getting high?
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